Assembly Instructions
43394319 CAMILLE 2DR BEDSIDE 00

WARNING: DO NOT STAND, SIT OR LEAN ON THIS UNIT. DO NOT USE THIS UNIT AS A STEP LADDER OR AS A CHOPPING SURFACE. KEEP AWAY FROM CHILDREN
AND BABIES. ADULT ASSEMBLY REQUIRED. USE ONLY ON A FLAT SURFACE. DO NOT USE THIS UNIT UNLESS ALL BOLTS AND SCREWS ARE FIRMLY SECURED.
CARE INSTRUCTIONS: TO BE ASSEMBLED ON A CLEAN, DRY AND SMOOTH SURFACE. WIPE CLEAN WITH A SOFT DAMP CLOTH. NEVER USE SCOURERS,
ABRASIVES OR CHEMICAL SOLVENTS.

CHECK AND TIGHTEN ALL PARTS REGULARLY. KEEP AWAY FROM MOISTURE AND DIRECT SUNLIGHT. STORE IN ADRY PLACE. FOR INDOOR AND DOMESTIC
USE ONLY.

MAXIMUM SAFE LOAD: TOP BOARD: 10KG, DRAWER:5KG.

< | al M6x35|22pcs S~ 9 2pcs
& | b|M15x10|22Pcs ~ |h 2pcs
&= | c| M3x12|28pcs el 2pcs
== |d| M6x30|14pcs o 2pcs
¥ |€| M4x35|8pcs ¢ |k |M3x14 |4pcs
B> |f 2sets m 4pcs

L1 |n 4pcs

3pcs

2pcs




125, jx2| .~

step 2 [~ exd = ox

X2/ v 2]

bx8|

ax8‘

step1 -~

Step 3 ‘WCXW‘\hXZ‘/gXZ‘,&“amO‘




® ©




